ДИСЦИПЛИНА: АНГЛИЙСКИЙ ЯЗЫК

Выполните письменную контрольную работу по следующим вопросам:

При выполнении работы рекомендуется оставлять широкие поля для методических указаний и замечаний преподавателя-рецензента. Материалы контрольной работы следует располагать в тетради следующем образом:

	Левая страница
	Правая страница

	Поля
	Текст на иностранном 

языке
	Текст на русском

 языке
	    Поля


Проработайте по рекомендованным учебным пособиям следующие разделы грамматики:

· простые неличные формы глагола: инфинитив в функции подлежащего, именной части сказуемого, прямого дополнения, определения и обстоятельства цели; причастие I, причастие II; герундий;

· сложные формы инфинитива и причастий;

·  объектный, субъектный и независимый инфинитивные обороты, зависимый и независимый причастные обороты;

· бессоюзное подчинение в определительных и дополнительных придаточных предложениях;

· условные предложения трех типов.
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1. Перепишите следующие предложения, подчеркните инфинитив - одной чертой, причастие - двумя чертами, герундий - волнистой линией. Переведите предложения на русский язык. 

1) The pyrometer showing the temperature of metals melted in furnaces is also an electrical device.

2) An electric arc is a discharge accompanied by a temperature of over 3,000(C, produced when electric current flows through the gap between two electrodes, the current being carried by the vapor from the electrodes. 

3) Making this instrument designed to take temperature, we could hardly do without a machine operated by electricity.

4) To show that the charges are unlike and apposite Franklin decided to call the charge on the rubber negative and that on the glass – positive.

5) Protecting houses and public buildings from strokes of lightning was impossible before Faraday’s time.

6) Russian scientists played an important part in solving the problem of atmospheric electricity.

2. Переведите следующие предложения на русский язык, обращая внимание на особенности перевода бессоюзных подчинений.

1) Tsiolkovskiy said outer space is an endless road, and nothing can stop man in his longing for knowledge and progress.

2) Provided there is not a flexible membrane in the tank to prevent airflow, the insulating oil in a transformer is in constant contact with atmospheric air. 

2) As it has been mentioned in your speech, separate power stations in our country had been integrated into United Power Supply Systems Corporation.

3) Electric sparks Franklin and his son both were watching during the experiments were growing bigger and stronger time after another.

4) Professor Rihman knew Lomonosov tried to solve the problem of atmospheric electricity.

5) Magnetism was an issue international researchers from different countries had spent much time on.

3. Переведите следующие предложения на русский язык, учитывая различая в переводе зависимого и независимого причастных оборотов. 

1) There being no knowledge of danger of a thunderstorm, people couldn’t protect high buildings.

2) Chemical sources of current having a rather limited application, the great quantities of electric energy generated today come from various forms of mechanical energy.

3) After Oersted, a Danish scientists and experimenter, invented a source of constant flow of electric current, he decided to establish the relation between that flow of current and a magnetic needle.

4) The scientist who is researching the superlow temperatures of liquid Helium and superconductivity must be an outstanding physicist.

5) Since atomic energy is developed in a reactor in the form of heat, both heat and productive industry-useful power result.

6) Testing semiconductor lasers, the researchers found their many practical applications in medical science and industries.

4. Переведите следующие предложения на русский язык, обращая внимание на перевод объектного и субъектного инфинитивных оборотов. 

1) The current is known to flow when the circuit is closed and there is a source of potential difference.

2) This group of USA researchers from California State University seems to have been working on the problem of splitting the atom.

3) On the contrary, the electrolytes are supposed to change greatly when the current flows through them.

4) This method allows the new computer processed data to be investigated thoroughly and employed for further study.

5) A mechanical water driven power generating device can be said to be a much simpler device than a turbogenerator that combines the functions of both a steam turbine and an electrical generator.

6) The plant, which is likely to be approved by the state board, will provide for the construct of new power stations.

5. Переведите на русский язык следующие предложения с придаточными предложениями условия. 

1) Were the electromotive force alternating, the current would be alternating as well, resulting in certain technical changes and – very likely indeed – in theoretical breakthroughs.

2) Unless they apply new devices, practical workers of power generating and distributing industry will not be able to obtain good results.

3) When the current is sent through the wire that has too small cross-section to carry it freely, more electric energy will be converted into heat than in the case of a thick wire conducting small current.

4) Had the inventors applied this method of work, they should have had the results desired.

5) If all devices producing electricity stopped operating in the evening, and if you at the same time wished to use the telephone or to watch TV, they would not work because they both depend upon electric current.

6. Переведите следующие предложения на русский язык, обращая внимание на различные значения глаголов should и would.

1) If a computer hadn’t been equipped such work as sorting, selecting, comparing and matching various kinds of information, it shouldn’t have performed logical operations.

2) If an object didn’t loose its potential energy, that energy wouldn’t be turned into kinetic energy.

3) Frequency multipliers should not be used to feed the antenna system directly, but should feed a straight amplifier, which in turn feeds the antenna system.

4) The direction of revolutions of a motor is not reversed by reversing the supply current, because this would change the polarity of both the field and the armature.

5) Well isolated underground cables should be preferred in use for power transmission in large cities.

  7. Переведите текст на русский язык.

NUCLEAR POWER PLANT

The heart of the nuclear power plant is the reactor, which contains certain amount of nuclear fuel. The fuel usually consists of hundreds of Uranium pellets placed in long thin cartridges of stainless steel. The whole fuel cell consists of hundreds of these cartridges. The fuel is situated in a reactor vessel filled with a fluid. The fuel heats the fluid and the superhot fluid goes to a heat exchanger, i.e. steam generator, where the hot fluid converts water to steam in the heat exchanger. The fluid is highly radioactive, thus, it should never come into direct contact with the water that is converted into steam. Then this steam operates steam turbines in exactly the same way as in the coal or oil fired power plant.

A nuclear reactor has several advantages over power plants that use natural gas or other minerals. The latter produce considerable air pollution, releasing combusted gases into atmosphere, whereas a nuclear power plant gives off almost no air pollutants. As to nuclear fuel, it is far cleaner than any other fuel for operating a heat engine. Furthermore, our deposits of coal, oil and gas are decreasing, so nuclear fuel is to replace them eventually. It means that coal and oil can be used for some other purposes. The amount of nuclear fuel that the nuclear power plant consumes is negligible, while the world’s Uranium and Thorium resources will last for hundreds of years.

The nuclear power stations are mostly designed for generation of electricity. If a station generates only electric energy, it is equipped with condensing turbines and the station is known as a condensing one. At present, the nuclear power station mainly operates as a condensing plant. The nuclear power station designed to produce not only electrical energy but also heat are called nuclear heat-and-power plants.

The construction of the world’s first nuclear power plant in Obninsk near Moscow is a great historical event and the beginning of atomic energy industry. Since then, our country has achieved a great progress in this field.

A fast-neutron reactor that supplies both electricity and heat for desalting seawaters was put into operation in the city of Shevchenko, on the Caspian Sea shores. Its capacity is partly used for generating electricity, the rest going as heat to obtain desalted water. It should be also mentioned that that area has no natural fresh water and used to be a lifeless desert before the nuclear power plant began operating there.

